Kaprouka W 1

l-BapuaHT
Peun nprMeptrr.
0 2 3 0 0 7 10 0
0 5 0 8 8 0 0 6

Kaprouka N 1

2-BapMaHT
Peun npmMeper
0 3 4 0 0 8 9 0
0 7 5 8 0 4 0 2

Kaprouxka N 2

l-papuaHT
CpaBHU.
0 : (72 = 19) * (53 - 29) : 1
65 - 0 : 28 * 0 : 75 + 19
(37 + 38) - 1 * 0 : (55 + 27)

Kaprouka W 2

2-BapMuaHT

CpaBHU.

0O : (95 - 37) * 83 - 0 : 58
1 - 86 -37*0 - 25 + 36
(95 - 18) - 0 * 0 : (27 + 19)

Kaprouxka N 3

l-BapmaHT
CpaBHM BHPaXeHMA.
2 1 *0 2 8 0 * 0 1
0 9 0 9 6 1 0 6
4 0 * 0 4 0 3 * 3 1
5 1 *0 5 7 0 * 0 7
Kaprouxka N 3
2-BapMaHT
CpaBHM BHPAaXeHMA.
3 1 *0 3 9 0 * 0 2
0 8 * 0 8 6 1 0 6
5 0 * 0 5 0 4 * 4 1
6 1 *0 6 3 0 * 0 5
Kaprouka N 4
l-BapmaHT
Peun ypaBHeHUHA
X 7 =20 8 x = 8 X 2 =20

Kaprouka N 4
2-BapMaHT








